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1 Study Fig. 1, about indicators that measure some aspects of development.

Country GNP per |% population | Adult Life Infant mortality
capita in Agriculture |literacy (%) |expectancy |rate (per 1 000)
(USS$) (years)

Iran 5 757.80 31.80 97.00 75.50 13.00

Ireland 51 760.00 11.60 99.00 81.80 3.30

Japan 42 870.00 5.20 99.00 82.00 2.00

Mexico 16 831.10 13.01 94.47 7717 12.60

Sierra Leone 1131.18 56.20 48.40 40.00 83.30

Sri Lanka 1491.24 68.00 92.60 75.28 8.40

(Development in Context Book 1, 2005)
Fig. 1

(@) (i)
(ii)

the source to support your answer.

(b) (i)
(ii)

What is meant by infant mortality rate?

Which country has the highest GNP per capita?

According to Fig.1, which country is the least developed? Use data from

Using the information Fig. 1, describe the relationship between infant

mortality rate and GNP per capita. Include statistics in your answer.

(iii) Suggest four reasons for the low life expectancy in Less Economically
Developed Countries (LEDCs).

(c) Describe the advantages and disadvantages of rapid development.

[1]

[3]
[1]

[2]

[4]
[4]

[15]
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2 Study Fig. 2, about the different types of enterprises.

’ your future starts with us

ON DIAMONDS WE BUILD

égl OLDMUTUAL

Fig. 2
(@) (i) Whatis a parastatal?
(ii) Name two examples of parastatals shown in Fig. 2.
(b) (i) What do the initials MNC stand for?
(i) Suggest four disadvantages of MNCs.
(c) (i) Whatis meant by privatisation?
(ii) Give three advantages of the privatisation of government enterprises.

(d) Suggest three types of infrastructure needed to support industrialisation.

[1]
[2]
[1]
[4]
[1]
[3]
[3]

[15]
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3 Study Fig. 3, which is a diagram of land degradation.

soil erosion

land degradation

overgrazing

Fig. 3
(@) (i) Whatis meant by land degradation? [1]
(ii) State two causes of land degradation. [2]
(iii) Give three reasons why the soil becomes dry and dusty. [3]
(b) (i) Define soil erosion. [1]
(ii) State four ways to reduce soil erosion. [4]
(iii) Explain two other environmental problems. [4]

[15]
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4 (a) Study Fig. 4A, which is about secondary school enroliment.
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(https://data.worldbank.org)

Fig. 4A

(i) How many more females than males are enrolled in secondary schools in
Southern Africa? Show your calculations. [2]

(ii) Use figures in Fig. 4A, to describe the differences between secondary
school enrolment for boys in Western Africa and Eastern Africa. [2]

(iii) Name any indicator, other than school enrolment, to measure the level of
education. [1]

(iv) Suggest three reasons why more girls than boys drop out of secondary
education. [3]
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(b) Study Fig. 4B, which is about different types of education.

Types of education

PN

Vocational Non-Formal Technical
Fig. 4B
(i) Explain the meaning of vocational education and give one example. 2]
(if) Name two types of non-formal education. [2]

(iii) Suggest three reasons why it is important for a country to have a system of
education which provides different types of education. [3]

[13]
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5 Study Fig. 5, which shows a map of SACU.

(en.wikipedia.org/wiki/southern-african-customs-union/structursl-adjustment)

Fig. 5
(a) List three member countries of SACU. [1]
(b) The same countries listed in (a) also belong to NEPAD.
(i) What does the abbreviation NEPAD stand for? [1]
(ii) State three aims of NEPAD. [3]

(iii) Suggest three reasons why it is difficult for NEPAD to achieve its objectives. [3]

(c) (i) Explain why international trade is important to countries. [4]
(if) Suggest why some countries restrict trade. [3]
[15]
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